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Q.1 | A) Choose the correct options (7) | 12
1. Which was the first transgenic primate? ‘
a) UTDi b) GENi ¢) CLONI d) ANDI |
i |

2. Oocytes are arrested at phase before |

fertilization |
a) Metaphase ¢) Prophase |
b) Metaphase II d) Between Meiosis | and Meiosis 11
3. Fertilized embryo is usually transferred to recipient temale at ‘ (Ol
a) Day 3-5 b) Day 6-7 ¢) Day 7-8 d) Day 9-10 | COr "

. . i 5 A . | ‘ COs. B
4. Superovulation can be induced by which of the following : J —— H{,r‘
| hormone o ‘
e a) PGF2a b) FSH ¢) GnRH d) Progesterone CO3
5. Which of the following is not a method for embryo testing?
a) Albumin and Percoll gradient ¢) HY antigen assay | |
b) FISH d) Barr bodies analysis |
. \

6. A vaccine can be ;
a) an antigenic protein ¢) weakened pathogen
b) live attenuated pathogen ‘i) all of these




a)
b)
c)
d)

Which of the following is not a type of non-invasive method of
sex determination of embryos?

Immunological assay of HY antigen 1
Quantification of X-linked enzyme

Barr bodies

Differential growth of male and female embryo

B) State the following statement is true or false and provide ;
justification for both the cases (5) ‘

Restriction enzymes type [ cannot be used for genetic 3
engineering purposes.

Assisted hatching breaks the endometrium layer of the cmbryo.
FSH hormone is used to synchronize the estrous cycles of the
donor and recipient cows.

Non-radioactive probes are safer than radioactive probes.
Covishield is a type of DNA vaccine.

Q.2 | Short answer questions (2*5 = 10) 10
1. Differentiate between linkers and adaptors. |
2. Why the estrous cycle needs to be synced between the donor |
and recipient animals?
3. What are the disadvantages of using artificial insemination
method for conservation programs?
4. What is in vitro maturation of oocytes”
5. Define vaccine adjuvant with some examples. |
i
Q.3 | Answer the questions in brief (3*2 = 6) L6
1. How can animal biotechnology be applied in the conservation of |
endangered species?
2. Differentiate between slow freezing and vitrification
Q.4 | Answer any 3 in detail (4*3 = 12) 12

§s

P01

Describe the Gubler-Hoffman reaction of ¢cDNA synthesis? What |
are the advantages and disadvantages ot this method? ‘
Explain the stages of vaccine development in brict.

What is the procedure for embryo transfer in cattle’

How are X and Y sperms different from each other?
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